
Q1
Factorise the following:



a)
2xy + 4x2

b)
4xy – 6x2

c)
12xy + 10xz



d)
4ab + 2ac – ad
e)
9pq + 6pr + 3ps
f)
a2b + a2c



g)
a3 + a2y

h)
2a2b + 3a2c + a2
i)
x2y + x3y + x2y2


j)
7a2bc2 + 14ab2c + 21ab2c2 + 28a2b2c2
Q2
A flowerbed has length (x +10) m and a width (x + 4) m.

a) Write down an expression for the perimeter of the flowerbed

b) Write down an expression for the area of the flowerbed and simplify it.

Q3
A bowling green has sides of length (2x + 4) m.

a) Write down an expression for the perimeter.

b) Write down an expression for the area and simplify it.

c) The bowling green needs a quarter of its area re-grassing, because of its poor condition.  Write down an expression for the area of the bowling green which is still in good condition.

Q4
Factorise the following equations:



a)
x2 + 3x + 2


b)
x2 + 8x + 15




c)
x2 + 19x + 48

d)
x2 + 3x




e)
x2 – 8x


f)
5x – x2



g)
x2 + x – 6


h)
x2 – x – 12




i)
x2 – 4x – 32


j)
x2 – 11x – 26

Q5
Solve the following quadratic equations:



a)
x2 + 3x + 2 = 0

b)
x2 + 8x + 15 = 0




c)
x2 + 10x + 25 = 0

d)
x2 + 5x –14 = 0




e)
x2 – 3x = 10


f)
5x = x2
Q6
When a number x is added to its square, the total is 30.  Find the value of x.

Q7
A rug is X m long.  The width of the rug is exactly 1 m less than its length.

a) Write down an expression for the width.

b) Write down an expression for the area of the rug.

c) If the area of the rug is 6 m2, write down a quadratic equation using your answer to part (b).

d) Solve this quadratic equation to find the value of x.

Exam Style question

Q8
a)
Factorise 
x2 – 4x – 12.


b)
Solve 

x2 – 4x – 12 = 0






(4 marks)


Q1
a)
2x (y + 2x)

b)
2x (2y – 3x)


c)
2x (6y + 5z)

d)
2a (2b + c – d)


e)
3p (3q + 2r + s)
f)
a2 (b + c)


g)
a2 (a + y)

h)
a2 (2b + 3c + 1)

i) x2y (1 + x + y)


j)
7abc (ac + 2b + 3bc + 4abc)

(10 marks)

Q2
a)
2 (x + 10) + 2 (x + 4) 

b)       (x + 10)(x + 4)

(2 marks)

Q3
a)
4 (2x + 4) m 


b)
(2x + 4)2 


c)
¾ (2x + 4)2
(3 marks)

Q4
a)
(x +1)(x + 2)
b)
(x + 3)( x + 5)


c)
(x +3)(x + 16)
d)
x  (x + 3)


e)
x (x –8) 

f)
x (5 – x)


g)
(x + 3)(x – 2)
h)
(x + 3)(x – 4)


i)
(x + 4)(x – 8)
j)
(x + 13)(x – 2)

(10 marks)

Q5
a)
x = -1  and  x = -2


b)
x = -3  and  x = -5

c)      x = -5 

d)      x = -7 and  x = 2

e)      x = -2  and  x = 5

f)      x = 0  and  x = 5

(6 marks)

Q6
x2 + x = 30

x2 + x – 30 = 0

x = 5  and  x = -6

      (1 mark)


Q7
a)
x – 1


b)
x (x – 1)


c)
x2 – x = 6
x2 – x – 6 = 0


d)
x = -2 and x = 3

(4 marks)

Exam style question

Q8
a)
(x – 6)(x + 2)


b)
x = 6  and  x = -2






(4 marks)
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